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Multiplying a Decimal by a Power of Ten

Solve the following problems.

2.2 100x =

0.5 1,000x =

1.3 10x =

3.2 10x =

3.3 1,000x =

2.8 1,000x =

0.7 1,000x =

0.1 100x =

0.2 10x =

3.7 10x =

0.8 10x =

5.8 100x =

0.1 1,000x =

9.3 1,000x =

0.4 100x =

1.5 10x =

7.8 10x =

0.9 100x =

1.1 1,000x =

5.9 10x =

3.5 100x =

0.8 1,000x =

1.6 1,000x =

6.9 100x =

0.5 10x =
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Answers

Solve the following problems.

2202.2 100x =

5000.5 1,000x =

131.3 10x =

323.2 10x =

3,3003.3 1,000x =

2,8002.8 1,000x =

7000.7 1,000x =

100.1 100x =

20.2 10x =

373.7 10x =

80.8 10x =

5805.8 100x =

1000.1 1,000x =

9,3009.3 1,000x =

400.4 100x =

151.5 10x =

787.8 10x =

900.9 100x =

1,1001.1 1,000x =

595.9 10x =

3503.5 100x =

8000.8 1,000x =

1,6001.6 1,000x =

6906.9 100x =

50.5 10x =


